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I can rearrange an equation into slope-
intercept form & graph a linear function!



I can rearrange an equation into slope-intercept form.

Pg23 in packet #5
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Partner Work… Complete Worksheet! 
Show all work getting your equation into slope-intercept form, if needed! 

You may graph using m & b or using the graph- whichever you prefer!

1.What is slope-intercept form of a linear 
equation? 

Convert the equations into slope-intercept form.
2. 6x + 3y = 6 3.    5x – y = -5



Partner Work… Complete Worksheet! 
Show all work getting your equation into slope-intercept form, if needed! 

You may graph using m & b or using the graph- whichever you prefer!

Show either m= and b= OR the table you used to graph!



Partner Work… Complete Worksheet! 
Show all work getting your equation into slope-intercept form, if needed! 

You may graph using m & b or using the graph- whichever you prefer!

Show all work & either m= and b= OR table used to graph!


